


№ 26.8(б) Решите уравнение:

10 7



№ 26.8(б) Решите уравнение:

59х – 37 = 140 

59х = 140 + 37 

59х = 177 
59 59 

х = 3 

Ответ:  3 



№ 26.10

I.

v, км/чВелосипедист

I х

х

t, ч S, км

II

12

14

– =



№ 26.10

II. 
7 6

2х = 84 

х = 42 

III. Ответ: 42 км 



№ 26.11

I. vcоб = х км/ч,  vтеч = 3 км/ч

v, км/чЛодка

По теч. х + 3

t, ч S, км

Пр. теч. х – 3 

6

4

6(х + 3)

4(х – 3)
126

6(х + 3) + 4(х – 3) = 126



№ 26.11

II. 6(х + 3) + 4(х – 3) = 126

6х + 18 + 4х – 12 = 126

10х + 6 = 126

10х = 126 – 6 

10х = 120 
10 10 

х = 12 

III. Ответ: 12 км/ч 



*

К л а с с н а я    р а б о т а.

Умножение многочлена на 
одночлен. 

*

К л а с с н а я    р а б о т а.

Умножение многочлена на 
одночлен. 



№ 26.20(в)

· 6

2(5х – 4) + (3х – 2) + 3(2х – 1) = 6(3х – 2)

10х – 8 + 3х – 2 + 6х – 3 = 18х – 12  

19х – 13 = 18х – 12  

19х – 18х = – 12 + 13  

х = 1  

Ответ:  1 



№ 26.21(в)

12х – х2 – 5 = 4х – х(10 – 3 + х)

12х – х2 – 5 = 4х – х(7 + х)

12х – х2 – 5 = 4х – 7х – х2

12х – 5 = – 3х

12х + 3х = 5

15х = 5
15 15 

х = Ответ: 



№ 26.24

I. v, км/ч

I
II

t, ч S, кмСамолёт

х
1,5х

0,5

0,5
0,5х
0,75х

0,5х 0,75х+ = 2400 – 1400 

II. 1,25х = 1000

х = 800

III. Ответ: 800 км/ч;   1200 км/ч.  



№ 26.27

I. v, дет/ч

Мастер
Ученик

t, ч А, дет

х
х + 8 8

6
8(х + 8)

6х

8(х + 8) + 6х = 232

II. 8х + 64 + 6х = 232

14х = 168
х = 12

III. Ответ: 12 дет/ч.  



№ 26.30

а, смПрямоуголь- 
ник

Был х

b, см S, см2

Стал

х + 8

I.

2хх + 4

х(х + 8)

2х(х + 4)

х(х + 8) 2х(х + 4) – 25 = 



№ 26.30

II. х2 + 8х = 2х2 + 8х – 25 

х2 = 25 

х1 = 5       х2 = – 5  (н.п. по смыслу)

III. Ответ: 5 см и 13 см.  



У: стр. 107   § 26

З: § 26   № 20(а); 
21(а); 22; 
26. 


